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Q.No: 1 Why is gravity a factor in watersheds

2415395

SRR # Tearh YUl U $RS w4l §

water flows towards sewage drainage system
A

I WA 33 Rivew o5t 3R Tgar @

it causes the water to flow towards a watershed
B

Tg UM B qTeRAS BT SR TEH BT FROT T @

water seepage
C

ot %1 e

it causes the water to flow away from a watershed
D

g U FY qTeRRS | X T8 BT SR F70T 7
Correct Ans : B
Subject : PAG-II(RAEO)

Q.No: 2 Lines connecting the points of equal water table are called

2415556
O o T & el $1 e areh Y weard @
Isohyte
A
sgIEEe
Isobar
B
STFHIEAR
Isobath
C
STgHITS
Isotherm
D
amgardt

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 3 Normally South -West Monsoon in Kerala starts at
2415558

PRA B AR W R0I-ufEm AT = a8

May 1st Week

s & UYH AWE
B May 3rd Week
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$ ¥ ey gwR

June 1st Week
Cc

A & Uy wwie

June 3rd Week
D

A & de qwe
Correct Ans : C

Subject : PAG-II(RAEO)

(22;1’\;.05:5461 When Due point temperature is below 0°C, moisture tums directly from gaseous to solid state called
Sfd oo fde AT 0°C & =i Glar &, at =i | St Hawan & 31 Haw # deol Sl 6.
[ESCIIEIC R

Frost

A

qrelt
Dew
B
3
Glaze
C
IHD
Sleet
D
3 & wry quf

Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 5  The line drawn on map connecting points with equal rainfall is called

2415564
AR R FHH a5 a9 fRigell 31 e areh FEard 21
Isobar
A
3MFHER
Isohyet
B
TFHIET (FHETEE)
Isohels
C
SERe
Isonephs
D
STEEART

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 6  The physical state of atmosphere at a given place and time is referred as
2415567

et R TTT R SR T R AT Y i Ry @ P o 8

A Weather
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e

Environment
B

CIGIERY)

Climate
C

wiearg

Mico climate
D

G&H Saarg
Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 7 World Meteorological day is celebrated on

2415568

fay Arew fagm feaw P TR Sl 71

15th August
A

15 ST

14th August
B

14 3T

15th January
C

15 SFaH

23rd March
D

23 O

Correct Ans : D
Subject : PAG-II(RAEO)

Q.No: 8  The daily weather forecast is obtained in the country from

2415569
3 & 3P T 1 gaigAr Feil T o §
Hyderabad
A
]
Pune
B
o
New Delhi
C
% Rl
Mumbai
D
g%

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 9 Short supply of water to meet the demand for crop duration is called
2415571
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B P AN F ALTOR UM Bt HH YT B HeT 1al &

Hydrological drought

A
eSO
Meteorological drought
B
e e g@n
Agricultural Drought
C
P sl
Physiological drought
D

IS @
Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 10 The most important form of precipitation for the crop is

2415575
wHd & T I 31 To Heaqol &9 B dar §
Dew
A
3T (Dew)
Rain
B
auf (Rain)
Snow
C
fewrare (Snow)
Drizzle
D
§aT 9id} (Drizzle)

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 11 Yearly sequence and spatial arrangement of crops or crops and fallow on a given area is called

2415576

et & & Bl o1, Od IR Wt & i 9 iR wifie waw HY el o §

Cropping pattern
A

v et

Cropping System
B

T Yoret

Crop rotation
C

A Ih

Farming system
D

Py yomedt
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 12 Cropping system which involves the raising of crops, animals and or trees is called
2415579
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el qurTeh R el AT, U SR a1 U8 I e 8, Peard 8

Mixed cropping

A
faftra wae
Mixed farming
B
fufta @t
Multiple cropping
C
TS Ha
Intercropping
D

3R - B
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 13 Which cropping system is occupying the largest area in India

2415580
FH W HUd Junet HRA § GaY 9 & H TS I 3
Rice - Wheat
A
e - g
Rice - Rice - Rice
B
rqd - 919d - d1dd
Wheat - Rice
C
A - Araq
Rice - Oilseeds
D

a1 - faee
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 14 Which is the alternate crop to rice in rabi season both in command and well irrigated areas in South India

2415581
féor wRa # e oIk ot v & Rifed &5 § vt v & araa % srear I Bud B 9 82
Sunflower
A
e
Groundnut
B
e
Wheat
C
g
Sugarcane
D
=

Correct Ans : B

Subject : PAG-II(RAEO)
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Q.No: 15 One of the major problems in rice - wheat cropping system is

2415582
qA-Tg B Yomelt F vy TEenet § ¥ U §
Delayed rice sowing
A
Y= ot 3 F g
Delayed wheat sowing
B
WA A g
Early rice sowing
C
T B ST gag
Excessive weeds in wheat
D

Ag AN ¥ i RUaaR
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 16 Generally the preferred intercrop in Sugarcane is

2415583
T H AR TdTa ST §
Short duration pulses
A
B srafy Ft
Maize
B
HIhT
Rice
C
qrad
Castor
D
RS

Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 17 Growing of two or more crops simultaneously in strip wide enough to permit independent cultivation but narrow enough for the crops to interact agronomically is called
2415589

W Tt & o vt A ugt F v T S ar & ¥ ¥ el B ST Qb HHal & IRER YHIT & g vafe Teiol g1 weard &

Row intercropping

A

UfeR gewpiy

Mixed intercropping
B

farf3ra gexia

Strip intercropping
C

R gewmitam

Relay intercropping
D

e gexsitam
Correct Ans : C

Subject : PAG-II(RAEO)
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Q.No: 18
2415590

The desired Land Equivalent Ratio (LER) for the intercropping to be beneficial is

eI & TSR B F o aifsd yfyy mge SU (LER) §
1

>1

>1

<1

[}

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 19
2415592

When the component crops in the cropping system are equally competitive, aggressivity index is

e B YUIel # Hed Bye IHM w0 3 ulaeaslf 8t €, A aibrHeal Gasid gidl &
0

-2

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 20
2415594

Relay cropping is

Rt wifthT &

A system of cropping where two or three crops are grown annually

wad Pt TR gormed STEt [T o a1 9 Bad I el §

A system of cropping where two or more crops are grown together by mixing of seeds

HHa Bt T gumelt R &) a1 6t @ Sifte B T A1y dteil & fryor § SIS ot

A system of cropping where an associate crop is grown in between the rows of principal crop

waa @t R yuiredt et o waa $1 ufdl F S oo geanht wad ImE andt @

A system of cropping where one crop hands over the field to the next crop in a quick succession.

A F 38 e, Rrad @ ¥ T wua & 2w 91 gO FOd B Gl I A §
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Correct Ans : D
Subject : PAG-II(RAEO)

Q.No: 21 Depth of cultivated soil is up to:

2417238

wd ol g et B e e gt 37

5cm
A

5 ¥

15cm
B

15 It

30 cm
C

30

45 cm
D

45 ¥t

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 22 Efficiency of applied fertilizer in rice crop is:
2417239

T B B H UgE Jake B & [ Bl 82

5-50%
A

5-50%

10-75%
B

10-75%

50-75%
C

50-75%

60—90%
D

60—-90%

Correct Ans : B
Subject : PAG-II(RAEO)

Q.No: 23 Which of the followings is an igneous rock?
2417240

Frafied § | B 3mg TgE 82

Quartz

Laci]

Marble

FTRR

Mica schist
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it e / 3w =i

Slate

wWe
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 24 Father of soil microbiology is:

2417241
a1 &R Wfa M & o1& B 82
S. N. Winorgradsky
A
.. st
Bejerink
B
EEiicg
A. Waksam
C
Q. 9pd™H
Liebig
D
frferr

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 25 Hydraulic conductivity of soil varies directly with:
2417243

ot 3 el arawdr # g HRO ¥ Wy md gkl 32

Capillary porosity

A

PTRIPT TR

Non-capillary porosity
B

R-PTRrPT AT

Total porosity
C

T I

Water holding capacity
D

STel YIRUT &HdAT
Correct Ans : C
Subject : PAG-II(RAEO)

Q.No: 26 Hygroscopic moisture is held at:

2417244
FEURGITY® TH Fel UiRd BT S 82
31 atm.
A
31 &
100 atm.
B
100 TéeH

C 99 atm.
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99 wdten

200 atm.

200 TETH

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 27 In no- tillage system, the surface soil layers have

2417245
- oS H, I S A wA T gWE
Higher bulk density
A
I 4P 9T
Lower bulk density
B
T UF TG
Higher total pore space
C
I g fg ®=F
lower water infiltration
D

oY U gais

Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 28 Irrigation with sodic water increase the availability of:

2417246
T ot & Rivr F7 R rust Suaear § g g 22
Sodium
A
wifsaw
Molybdenum
B
Hiftesw
Zinc
C
i
Chloride
D
FANES

Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 29 The crop suitable for cultivation in saline sodic soil would include:

2417247
Tauged Yifew gt ¥ Bt & R Suged waa & T Wit 32
Soyabean and rice
A
WA SR
Soyabean and sugar- beet
B

TR R gHR
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Sugar-beet and rice

gobax R U

Trice and maize

2159 3N HahT
Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 30 Obligate parasites are organisms that:

2417251

siffriie TRefd & Sfta § ...

Are saprophytes but can also become parasites.
A

AirTse § AP Tl off o7 wwa 7

Are pests but can also become saprophytes
B

Fie § AT garusidt off o w7

Consume only dead and organic matter.
C

Faa 7d 3R S yerdl B @ g1

Consume living host.
D

SHifea Asrar # @« g
Correct Ans : D

Subject : PAG-II(RAEO)

Q.No: 31  Which of the followings is a bacterium involved in denitrification?

2417252
o & F o O Siary faArsdieso & i e 87
Azotobacter
A
TR
Nitrosomonas
B
Pseudomonas
(o}
Nitrobacter
D

SRR

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 32 The plant nutrient when supplied in excess prolongs the growing period and delay crop maturity:

2417253
P T UEY U s A H T 9 W i F Ay F et e ¥ 3R Bud ude H <t BT HRUT ST 82
Iron

A
et

B Phosphorus
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BRI

Nitrogen
Cc

I

Potassium
D

reRr

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 33 The succulence and lodging in plant is due to ‘excessive’ application of:
2417255

frae srafie TET & RO DY § A SR ST BT 82

Zinc
A

e

Phosphorus
B

BRPRA

Hydrogen
C

TG

Potassium
D

R

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 34  Soil containing high proportions of organic matter have following colour:

2417256
FERS gerdl & I sruTd areh gt & $ A W1 8 B2
Light colour
A
okl
Dark colour
B
T A
Yellow colour
C
e &
Red colour
D
GIGEL|

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 35 Soil are surveyed and classified on the basis of distinctive feature of:
2417257

ordt 1 Teeror SR arifeRvur fob iR faRiven & enuR W fahar ST 82

Parent material

& areh
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Soil horizons

B
e faferst
Soil profile
C
firgt &1 v
Soil samples
D

gt & =g
Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 36 Which main step of the following is not carried out by plant breeding technique?

2417771
FrofifEd # § SH-91 g TR UIGU USHE daHie R g T ST 87
gene bank
A
o= S
cross hybridisation among the diseased parents
B
IR wra-far & S i grfisgeRe
selection and isolation of desired recombinants
C
TS G TASD! BT 99 R raTa
selection of host and carrier
D

AET 3R a8 BT aq
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 37 Triticale is a potential energy crop and is a result of

2417773
fefera te Tuifya Suf woa € Sk gH@r ofom §
Crossing wheat and rye
A
g 3R TS B IR FRAT
Crossing of wheat and rice
B
Ag 3R IEd B IR AT
Crossing two breeds of wild ancestral Rye
C
SHTelt A € T &) XA B UR FIAT
Crossing of two modified forms of wheat
D

Ag P 3 GG Ul BT Hb0T
Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 38 Progeny resulting from the interbreeding between two plant species is called
2417774

Q) Tiefi Y orIfdt & s Sfd: TS @ I Wdla St &
A Hybrid
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Clone

F

Homozygous

HHYHS

Heterozygous

TSt

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 39 Clone is described as-

2417775
M & w9 § afvfd 3-
Genetically identical cells sexually produced by different progenitor cell
A
STTARTP T A THE SR st A gde skl grr 99 o @ fffa ad §
Genetically not identical cells sexually produced by different progenitor cell
B
TR F0 A THH PIRET 78 & fifte i SiRmeel gR1 99 ¥ 4 Idred gt &
Genetically not identical cells asexually produced by different progenitor cell
C
STIARIT FU A T HIRTGIT T S HET-@ Gdel SBT3 §RT A6 79 A Iaanfed gl &
Group of cell or organisms which are genetically identical and have all been produced from same original cell
D

PIRrT a1 Sfidl BT TE Sl AMHERS U & TAH § 3R 9t 1o € qu ST & S g §
Correct Ans : D
Subject : PAG-II(RAEO)

Q.No: 40 Economically useful crops with desired improved character are raised by

2417776
Jifed Iaa A arelt offer w0 § ITEh Bud fFud gRT e o §2
Natural selection
A
wpfa® 997
Hybridization
B
TP
Biopesticides
C
SateID!
Biofertilizers
D

W9 IRF
Correct Ans : B
Subject : PAG-II(RAEO)

Q.No: 41 First commercial use of transgenic tomato & tobacco begin in which country
2417777

TERfE THIER 3R TaIE $T Ugdl GRS SUAN 59 321 § & gai?
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India
A

HRAT

America
B

AT

China
C

=

Ireland
D

HTRAS

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 42 What type of development parthenocarpy is

2417789

e v TR o1 i 3

Fruit, with seeds, are formed from ovary without fertilization.
A

wd, dI9 ¥ Ay, R Fiee & s § a9 ¥

Seedless fruits are formed from ovary without fertilization.
B

1 v & SieTerg @ foRfRd B o7 &

Fruit, with seeds, are formed from ovary with fertilization.
C

w, 99 & A, FrieE ¥ Ay o A 9 §

Seedless fruits are formed from ovary with fertilization.
D

Frie & g siem A SRR v o d §
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 43 Genetics stimulated research to improve crop production , Who is considered as the "father of genetics"?
2417792

HIARIBT ¥ HHT SATe H YR F R S 1 IR o, 5 " Siaifiest &1 S AT ST 22

Gregor Mendel

A
IR dsa
Charles Darwin
B
e s1fda
Robert Hooke.
C
Aaé go
Muller
D
g

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 44 A data of the entire parent off spring relationship is maintained and known as-
2417794

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eooale Play

TTaT-foar & 3w BT fxd &1 U gul SeT S @M S § SR S ST e 8-

History of self-compatibility.

A
STH-ITeT BT AT
Mean of pedigree
B
geMaet PT AAAE
Track of pseudo compatibility.
Cc
Bk ucoikakcd
pedigree record
D

ERUCEIRTEaE)
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 45 The broad sense heritability is expressed mathematically as..?

2417795
gaRIea &1 a3 TR U & e e S € .2
h=vg+wp

A
Tg = di=r + drdr
h=vg=vp

B
T = gl x @rdr
h=wvp/vg

c
T = 9|y / delt
H2=vg/vp

D
T = dheir/ddr

Correct Ans : D

Subject : PAG-II(RAEO)

Q.No: 46 The process by which humans use plant breeding to selectively develop particular phenotypic traits by choosing plant males and females which will sexually reproduce and
2417796 pave offspring together.

9% UfkaT % gRT B UTey Ui &1 ITART W & 7R 3R AT B gHHR AR w0 § Bilesiis a&ul o iR 7 F T a=d § 9t dF FU § uoee S8 iR T 91 G Ie1 $3

Genetic flow.

A
SIRCIRCE I
Selective breeding
B
IIATHD U
Natural selection
C
plcancaeue]
Gene pool
D
o g

Correct Ans : B
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Subject : PAG-II(RAEO)

Q.No: 47 A plant that has been deliberately altered or selected by humans; it is the result of artificial selection is called

2417797
T QT o SR daa faan T § A1 At gR1 g T §; U8 P 99 ST uRom HEard §
Cultigen
A
P
Natural selection
B
Tpfae TaT
Gene expression
C
s siftreafes
Translation
D

3gare

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 48 Crops that have been genetically modified to produce their own protection against bugs are called

2417798
I T RO PIT § o+t WRan & e e w0 & = fosan e &, weand 8-
Drought resistant crop
A
@ iR waa
Herbicide resistant crop
B
AT ufeRieR o
Pest-resistant crops
C
Fie uforidh wadt
Disease resistant crop
D

I wferteh woa
Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 49  The concept of pureline was proposed by Johannsen on the basis of his studies with common bean variety called

2417799
WRATST BT SFTURUN BT NG = 30 HAT & YR W HTH S 5w F W1 WRennfad iy o1 for Fg1 o g
Albert Pinto
A
Sread firet
Princess
B
ik
Calypso
C
Pfereat

D Muller
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ki

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 50 The Golden rice is a variety of rice (Oryza sativa) produced through genetic engineering to biosynthesize a precursor of vitamin A is called
2417800

TieeH ST 19 P TS e ¢ (R Afean) R eirgdfie Seiifafar & arem @ ferfs T smigd & Sauxafid #=7 & e Ianfed fawam S 8, e o1 @
Phytyl pyrophosphate

A
BIEesd UTHRIBIShe
ergocalciferol

B
TR
Beta-carotene

(o}
et FAET
Glucuronate,

D

BRI

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 51 Tomato breeders use which mutation to reduce the softening of fruits and produce firm fruits with delayed ripening effects but decreased nutritional value, color and flavor of
2417803 the tomato.

TR & USHH Hall & RE g1 B HH F & O 59 IaRad ST ITaN $Rd & 3R 2R W UHA d1dl YHId & 1Y € Bl UaT Hd 3§ A eHIex & U0l Ied, 17 3R @G # FHt ol 82

Rin mutation

A
1 Sk
Pin mutation
B
o Safvads
Pen mutation
C
U Saafvad
Tin mutation
D

o1 S
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 52 Collaborative effort of which system is to safeguard the genetic diversity of agriculturally important plants
2417804

P = § Agcagel Neft B argefres faferar Ft e % e frw guch &1 wEaTES TN 3

National Plant Germplasm System

A

I TGy AT ot

National plain Germ system
B

gt frqr ey e

National Protoplast Germination System
C

P WISTEARE SFHR0T JoTTedt
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National Plant Geology System

P TG YA vt
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 53 What are the organisms called which change their body temperature according to the surrounding?

2417805
AR & AR IR & AGHAM BT I&a dTel oild B R Fed 82
Sphygothermic
A
witufife
Poikilothermic
B
RISEIdiEEg
Homeothermic
C
siffsfufiie
Hypothermic
D
FrEutffe

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 54 Improved Indian variety of wheat, carrying genes of dwarfness and higher percentage of protein?

2417809
TG F o SR TR F = Ui et b g 3 R e § guR fare
Sonalika
A
WA
Kalyan
B
Hegror
Sharbati sonara
C
TREA FAR
Lerma safed
D

ot Riga
Correct Ans : C
Subject : PAG-II(RAEO)

Q.No: 55 A cross is made between two homozygous parent plants, is called monohybrid cross. In this cross F2 phenotypic ratio is

2417810
3 FrgSl 79 gl & § U Hi S o 7, SR AeRies Sl de a3 U H A F2 Belesfie eua I
1:3
A
1:3
3:1
B
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2:1
C

2:1

1:1
D

1:1

Correct Ans : B
Subject : PAG-II(RAEO)

Q.No: 56  Which one of them was the first who outlined the method of developing multilines in wheat

2417816
T ¥ B Ued wfa A fiR 1 & Ao faeR o @1 ot 3t For TR 3t
C. Darwin
A
it sifd=
Borlaug
B
aRarT
M.S. Prasad
C
TH.TH. J¥Te
T. Fairchid
D
& Pmfast

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 57 The process in which nutrient density of food crop is increased through conventional plant breeding or modern biotechnology without sacrificing any characteristics-
2417822

9% wfrar o uRuRe dell & TorH a1 Snyfie Sa et & Arerm § fo foredt faiwar 1 @t frar ey wuelt & U 9E I 9 T Sl 8, o 1 HEdrd 8-

biofertilizer

A
Iy @
bioremediation
B
SfaF IrErR
bioleaching
C
o e
Biofortification
D

Eluia it
Correct Ans : D

Subject : PAG-II(RAEO)

Q.No: 58 Sesbania rostrata is a photoperiodic sensitive plant with nodules in its stem, which mutant variety is developed by BARC, Bombay which is photoperiod insensitive, salinity
2417828 tplerant and can fix nitrogen.

JGaTaT AT UF HIRASH Taem=ia tur § e a3 & Tegd 81d €, $H @ Saad! e dirsrad, sta gr1 Riefia o1 7€ § o wieniiars sride-=id, dqur aftw] § ok A8eieH &
& IR Tl 32

A TSR-I
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TSR-I

PAL-I

PAL-I

ATS-1

ATS-I
TRS-I

TRS-I
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 59 The product label should indicate whether the pesticide is highly toxic by

2418138
59 ¥ gR1 I 7o B ST BT Moy b T BleRe i faven 3
bones on both side of skull sign
A
TSt & g & T Sk Y Bfyal
skull sign
B
Wit e
Skull and crossbones signs
C
TSt SR e Y
Bones sign
D
BT &1 wha

Correct Ans : C
Subject : PAG-II(RAEO)

Q.No: 60 Which statement about mechanisms of sap flow in plant vascular tissues is not true?

2418162

i1 HAEN ST B 7Y YaE F 7F F IR T B 1 HYH TG T 32

Sap flow in xylem is mostly unidirectional, whereas in phloem, it is bidirectional.
A

e # U e G Twft g 8, st v 4, a8 Rivehagiar 31

Driving force for sap flow in xylem is transpiration from leaves, whereas, in phloem it is dependent on active transport of sucrose at source.
B

Sigem § /U yare & e Re wfe ufrat & arsiiersis 3, Safe weiien & 95 Hial § Gie & | greue w AR 31

Site of sap flow in xylem is nonliving vessel elements and tracheids, however, it is through living sieve tube elements, for phloem
C

s & Ay yars Froffa aifeeell wd ¢frs & gwr ST 3, wafy, weiew # 9w ofifdd Terht Al arew @ g 3

Pressure potential is positive for xylem and for phloem, it is negative.
D

g & oY gaTa e YHRIAS § 3R TweH & Rig, 98 ToReT® g1
Correct Ans : D
Subject : PAG-II(RAEO)

Q.No: 61 The acid growth hypothesis offers a possible explanation for-
2418165

3 gi IR 39 o T WHIfad TR Tegd el 8-
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Auxin-induced cell expansion

A
siffeaa-afa ik R
Cytokinin induced rapid proliferation of cultured plant cells
B
ArgIBIS W UreuSRIBTSH BT e dad=
Gibberellins induced internodal elongation
C
Rrafera UfRasarudwfy defewor
Ethylene induced senescence
D

iy Ifa Sfiofar
Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 62 The connecting link between glycolysis and Krebs cycle is Acetyl CoA, which is produced by the enzymatic action of-

2418166
TIPSR SR o ob & de g arell w9t WRierse Bl TeH U &, S g foban gr1 fftf g 8-
Pyruvate kinase
A
TFEIE T
Pyruvate dehydrogenase complex
B
uTER~ae REgTggiere BredRy
Pyruvate reductase
C
ugEde Rewew
Hexokinase
D

TR A

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 63 The value of respiratory quotient is infinite (o) in case of-
2418168

9T HEThA & A 3ed (o) 5= 7 T o ufa & giar &2

Substrate is organic acid

A
qoHeT BIED 3 B
Partial oxidation of carbohydrate
B
PraferEde BT i aifRfiE
Anaerobic respiration
Cc
AT YT
Substrate is Fat
D

Fsge a9 g

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 64 Which statement about the light is not correct?
2418172
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THT & IR F B W HUT T T 22

Light is a transverse electromagnetic wave.
A

YT TP ST fagqd graeig a¥w 81

Light has dual Characteristics of Both Particle and Wave.
B

T H BT 3R 7T G 6t ey )

The energy of light is directly proportional to wavelength.
C

RiaSSt o duf & FHad @ ¥

In light wave, both electric and magnetic fields oscillate perpendicularly.
D

ST a1 U F, figga ok Joaiy &7 § RER dead €0 F Jad F3d 2
Correct Ans : C

Subject : PAG-II(RAEO)

.No: 65 . . ..
(2241817 » Number of O; molecules evolved per quantum of light absorbed in photosynthesis is defined as:

GHTHLETOT 3 A T Geh1er bl AT & HTHR e O, HUBHT 1 HEAT I 57 TR

aieniee fesar aram g:
Quantum Efficiency
A
@icH &wdl
Quantum Requirement
B
HicH TaTaHdl
Quantum Loss
c
wica g1
Quantum Yield
D

HicH a4
Correct Ans : D

Subject : PAG-II(RAEO)

Q.No: 66 During the process of light reaction in photosynthesis, which among the following act as ultimate electron donor?
2418175

YT TR F TehTRT fafsear 3 ufesan & R, Fofafea § @ S Difresdey o & ¥4 B S dRar 82

Chlorophyll ‘a’

A
TR *a’
Chlorophyll ‘b’
B
RN
Water
C
ot
Oxygen
D
SffRfte

Correct Ans : C
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Subject : PAG-II(RAEO)

Q.No: 67 Which of the following act as a soluble protein to which in turn reduces photosystem I (P700).
2418176

Foffed & ¥ $F gaq=ia ida & U & Hrf Hrar 8 o BIIRREH 1 (P700) & 3/l HdT 31

Cytochrome b6 f complex

A
IEeHpIH H6TE Pread
Plastocyanin
B
RS
Plastoquinones
C
TR
Pheophytin
D
W

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 68 Which of the following statements about photosynthesis is not true?
2418177

9 & A B A HYT THRRRATY F e T L 72

Photosynthesis is Os-evolving process.

A
THIRATIATOT O, TSI T Fder aTell Uihar &
In photosynthesis CO; is reduced
B
FHIIERETT 3 CO, &7 HaaROTgIar &
In photosynthesis H>O is reduced
C
TR uT 3 H,0 =1 3ahoTgiar g
Photosynthesis is a biological oxidation-reduction process.
D

YT VYA T AP HTRNDHR0T- aer uihar @
Correct Ans : C
Subject : PAG-II(RAEO)

Q.No: 69 In photosynthesis, light independent reactions (dark reactions) take place in-
2418178

TR ERANYT F YeHTYI-waT St (SRt et e 8-

Chloroplast stroma

A
FARIEIRE T
Granal thylakoids
B
I YraATEIESH
Stromal thylakoids
Cc

TS YaThE S

D Lumen
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A

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 70 What is the correct sequence of reactions in Calvin cycle (C; cycle)?
2418179

Ffeaa os (C: %) AvfafFafimradrsa w2

Carboxylation®™ Oxidation ™ Regeneration

A
atTerTerar=» HiaHHOT Gefarere
Carboxylation ™ Reduction ™ Regeneration

B
FIE TR P HAHIOT I Jefoiele]
Carboxylation® Regeneration ® Oxidation

c
EACIESERE SEEE) FIE )
Carboxylation ™ Regeneration ™ Reduction

D

Fa e oo Jefotelel b JTTEHTOT

Correct Ans : B
Subject : PAG-II(RAEO)

Czl‘-"\lit;i?slo Which of the following element is assocated with O,- evolving complex of PSII?

f=fafad & & #i @1 d@ PSIl & O, fvaRe §Fd & dfad §

Manganese (Mn)

A
FrST (Mn)
Magnesium (Mg)
B
AehifrEH (Mg)
Sulphur (S)
C
B (S)
Nitrogen (N)
D

ATEEISH (N)

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 72 The predominant protein in plant leaves, catalyzing the first reaction of the Calvin-Benson cycle is-
2418181

Ffea -8 9% Bt g vfafear B 1Y &) oREt &1 B9 91 T W IR HRa 3-

Transketolase

gierae

B Phosphoribulokinase

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

BIEpIRgArPTgIo
Aldolase
c
Tt
Rubisco
D
RaErsal

Correct Ans : D

Subject : PAG-II(RAEO)

Q.No: 73 First stable product in Calvin cycle is-

2418182
Ffe 7 1 T RR IaTe -
Ribulose-1,5-bisphosphate
A
fegaie-1, 5-feRwibe
3-Phosphoglycerate
B
3-BIEpIfERe
Glyceraldehyde-3-phosphate
C
fReRfcSeTsS-3-Wwivhe
Dihydroxyacetone-3-phosphate
D

SETSS IIRIEH-3-wTehe
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 74 Net ATP consumption to fix 6 molecules of CO;in Calvin cycle is-
2418183

&feas = & CO,% 6 HULHT &l FEaR el & foIT og ATP @ud &-

6 ATP
A

6 ATP

12 ATP
B

12 ATP

18 ATP
Cc

18 ATP

24 ATP
D

24 ATP

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 75 Which statement about Rubisco is not correct?
2418184

B & IR F DI A DY TE e 82

A Rubisco Activity increases in the dark.

GET IT ON
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3R # =iy Ft afafafy 9 ot 21
Rubisco acts as carboxylase in Calvin cycle.

B
vt $far o & prafferas & w0 o1 oear 1
Rubisco acts as oxygenase in photorespiration.

C
e yeriig-yem & sitRiivAs & v § o1 Fvar 31
Mg is required for Rubisco activity

D

Fiaral Afafafe & felw Mg HaeTFH &

Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 76 . : . - . e
2418185 The C, oxidative photosynthetic carbon cycle is associated with i

C, HIFHSET Jorer el Hla- o Harad o-

Pentose phosphate pathway

A

eI Wivdhe urud

Hatch and slack pathway
B

39 iR W T

Photorespiratory cycle.
Cc

YD YA sk

CAM Metabolism
D

CAM TemEifers
Correct Ans : C
Subject : PAG-II(RAEO)

Q.No: 77 Which statement about photorespiration is true?
2418187

YT 4G b aR F P G BY I 87

It is the only way of respiration in plants.

A
Qe & 4 T Fad qgt THAE BT 2
In photorespiration Rubisco fixes atmospheric CO,.
B
GHT 2FHA H T agHSAR CO, ) FRR#ar 3
It operates in mitochondrion.
C
g UTgeIBigar ¥ H1d Far 2l
Itis limited to C; plants only.
D

TG hael C; q’fiﬂﬁﬁﬁ#@?—f%‘

Correct Ans : D
Subject : PAG-II(RAEO)
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Q.No: 78 Despite of highly photosynthetically efficient, C; plants are less productive, because-
2418188

TERTRI HoWoT # 37 HaTH §1o) & a1avlg, C; Uil &1 3cTes &+ giar g aifeh-

C; cycle operates in dark.

A
G TH IR F T grar g
C; plants are very less in nature
B
G Ul uFHfa A agd FHE
Cj3 plants also exhibit photorespiration
c
C; T yaprer eqwat st weffa v §
Rubisco is absent in Cs plants
D

Ffar C; Tt e @

Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 79 Which active substance secreted from the saliva of gall midge larva and are responsible for gall formation (silver-shoot) in rice-
2418250

Tifet fir el B AR & B A1 Wy vard A g § SR Araw H e (RieeR-3[e) & forg R g &-

Spinosad
A

fars

Cecidogen
B

IRrSIoT

Glycogen
C

TARHIE

Phytogen
D

LaEGIEE]

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 80 Costs that vary with production are..?
2419131
I. Marginal costs

II. Fixed costs

S AT ST & WY SEad! 8.2

1. diHid ara
11. RR ard
Only I

A
F$ad I
Only II

B

Fad 11
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Both I and II

I 3R 11 3f

Neither I nor II

EGIBE kiRt

Correct Ans : A
Subject : PAG-II(RAEO)

Q.No: 81
2419132

Export- Import bank was established on 1st January

Fafa-smard S Bt R feg 9y 1 S & g8 A
1980

1980
1982

1982
1981

1981
1983

1983

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 82
2419137

Net profit is computed in the

Profit and loss account

oy 3R BT @

Balance sheet

goq o (S99 =fie)

Trial balance

W Hge (TR 33Aw)

Trading account

& @mar

Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 83
2419138

Which of these best explains fixed assets?

Froffed & ¥ $ sraq Gulual @ Ja8 st e $Ra1 82

Are bought to be used in the business

T B START ¥ e @i ot ¥

Are expensive items bought for the business

GET IT ON
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it T & foe @ s weht awqe @

Are items which will not wear out quickly
c

Y STt TR TE €N AT e §

Are of long life and are not purchased specifically for resale
D

o1 Sitae |1 & iR faRly v @ Afdewra & o = @i wrdt €1
Correct Ans : D

Subject : PAG-II(RAEO)

Q.No: 84 The bowed shape of the production possibilities curve illustrates.
2419145

AT FUTHT I B YR (FT g8) Npfa axifeht 31

Law of Increasing Marginal Cost

A

e ARt S @1 fam

The production is inefficient
B

ITE Pt AHFRIAAT

The production is unattainable
C

IUTGH P SUTCIT

The demand is relatively elastic
D

T[T FT NP AEER g
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 85 Iso-revenue line is a:

2419147
HFTHSH-Iord YT § T
Straight line
A
et ¥
Curve line
B
% YT
Horizontal line
C
et Y
Vertical Line
D

dead ar
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 86 Average fixed cost is equal to
2419148

I RR @ F IR gt B

Total fixed cost / 100

d fRR @rTa/100

GET IT ON
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Total fixed cost/total variable cost

B
Pd RR anra/ga uRad-=ita ara
Total fixed cost/output
C
o RR anTa/Idrea
Total fixed cost/Input
D

o RR anra/ A
Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 87 Dairy farming, poultry farming, crop farming and pig farming are
2419150

308 wiff, O wifthT, o wfT R geR wiftfr _ )
Types of farming
A
Gt  TBR
System of Farming
B
&t 3 yoredt
Dry Farming
C
T wft
Mixed farming
D

Forfdra @t
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 88 Which one of the following is not a physical factor affecting the type of farming?
2419152

Fufafad & § B9 91 oRE $ & TSR B YU B e Nfis SRS -6l 82

Climate
A

Srerarg

Topography
B

R

Soil
C

fgt

Labour
D

L)

Correct Ans : D
Subject : PAG-II(RAEO)

Q.No: 89 The law of diminishing returns applies more generally to
2419175

FIEHM Ufwd P R WURY GR W % a8 g

A Industry

GET IT ON
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R

Agriculture

P

Marketing

fagur

Entrepreneur

Jedt

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 90 The law of diminishing returns assumes
2419176

BTAM Ufte/ay T 390 I §...
There are no fixed factors of production
A
T & FAfdd sR® 78 71
There are no variable factors of production
B
Sane ¥ uRadia () RS T 31
Utility is maximized when marginal product falls
C
Haia Sare 9 9 W SAiiar Afead 8 s 21
Some factors of production are fixed
D

IAEH & P PR (RR Tl
Correct Ans : D
Subject : PAG-II(RAEO)

Q.No: 91 If marginal product is below average product-
2419177

TR Tiwid Iamg Sfed Sare § FH B
The total product must fall
A
TA I FH G AT
The average product will fall
B
3 IaTg HH g
Average variable costs will fall
C
3era ufvad=reiie anra s+ & st
Total revenue will fall
D

T IoRd § U gt

Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 92 The Average Variable Cost is the result of ?
2419178
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Total variable cost and fixed cost

A
Pa IRad-RiTa anma R RIR arma)
Output and marginal cost
B
Sare R Hwia e
Marginal coat and total variable cost
C
Hia anTa R Fa aRad-=ia ar
Total variable cost and output
D

o IRad-RIe arTd R Iare

Correct Ans : D
Subject : PAG-II(RAEO)

Q.No: 93 When fixed cost doesn’t change with the change in output..?
2419179

I. Marginal cost would be minus.

II. Marginal cost would be plus.

III. Marginal cost would always be 0.

S Sate § uRad & Ty RR arrd # uRad & Sar g d)..2
1. Sid AT H gl

11. Hwid A sifie gefti

111. SHid ARTd &8RO 8RiT

Only I

Faa 1
Only II

Fad II
Only III

ad 111
All I, II and III

Toft 1,11 3R 111
Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 94 Who suggested product, pricing, place, promotion all these in a company represents “Market Mix"?

2419180
Tg e gemn o1 fs st ot ¥ Iare, gew Fafor, =i ok =R & @it
"ffdi SR (e fre)” @1 ofaffid wRa
Neil Borden
A
RICEICE]
Neilsen
B
e
Philip Kotler
C

fisfera deaw
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Stephen Morse

TG ARt
Correct Ans : A

Subject : PAG-II(RAEO)

Q.No: 95 When TPP is maximum, the MPP will be
2419181

I. Maximum

II. Zero

III. Minimum

S A eifiedd 8, @ TAdd ... BRI
1. 3ifBan
I 4

III. gAaq
Only I

Fad I
Only II

Fad I1
Only III

ad 111
All I, II and III

Tl 1,11 3R 111
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 96 Which of the following is not correctly matched?

2419182
FrofofEd & & o1 w1 gm 8 1 § gafea T 32
App rises continuously till APP and MPP is both equal.
A
Tt § e 33 St @ ote a6 Tttt sk rdidt St sRTeR TE § e
MPP rises continuously - Till MPP is more than APP
B
it & PR 9fS @ § - w9 9@ adidt olid @ eiftre 7 8 e
TPP rises continuously - Till MPP is not equal to Zero
C
A § PR 3 S 8- o 9 Tl 0 & RTe) 7 8 W
APP & MPP both falls but TPP rises. When MPP is less than APP but more than zero
D

T &R T 3T e & dfe SRR ag wrar 81 oa Tadd witdt & w0 afe g @ aiftre &t
Correct Ans : D

Subject : PAG-II(RAEO)

Q.No: 97 A farmer having more than ten hectare of irrigated the land, is known as:
2419183

1. Small farmers

II. Marginal farmers

III. Big farmers
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R M & U &8 3RmR A oiftres Rifed wffy At }, SA prr W@ 2.,
1. et fram
11. ¥mid feam

I11. §81 foam
Only I

Fad I
Only II

Fad 11
Only III

Fad 111
All I, II and III

[oft 1,11 3R 111
Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 98 Absence integration between resources and activities in the process of production is called:

2419184
e @) fsear & T oIk ffafidt & o srufufa TateRe Y et o B
Linearity
A
Mawar
Non-linearity
B
Rf@Har
Quasi-non-linearity
C
-t
Quasi-linearity
D

7w
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 99 Farm management concern with obtaining the maximum yield per hectare and considers per unit cost therefore it is:

2419191
SR (B TeEE Ul FRW HAGTH IS U B F WIY-T1Y 3R U B TG W IR FRar1 3, W ag B.......
Practical Science
A
eI fam
Integrating Science
B
TP g
Profitability Oriented
C

AHTEAT IS

Broader Field
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IS &
Correct Ans : C

Subject : PAG-II(RAEO)

Q.No: 100 In which planning period profit rule says that gross return should cover variable cost:
2419192
I. Long run

II. Short run

o Tior sraftr & T BT W Fedl § 5 9a oy § uRad-Ria amTd e g T
1. dd@rfoe

I1. SEPITD

Only I

Fad I

Only II

Fad II

Both I and II

I 3R 11 3F

Neither I nor II

Jarad
Correct Ans : B

Subject : PAG-II(RAEO)

Q.No: 101 Where was the Congress session of 1888 held?

2621989
1888 T HTIW SHAIX Fal SR faan mar ar?
Bombay
A
dad
Allahabad
B
ESIHEICS
Calcutta
C
CasEasl)
Nagpur
D
ARTgR

Correct Ans : B

Subject : General Knowledge

Q.No: 102 ‘Go back to Gita’ was a prominent slogan given by which social reformer?
2622051

T Bt 3R A A1 T §b ¢ Mar 5T TS GURS BT YW AR UT?

Swami Vivekananda

@ fyaerie

Ramkrishna Paramahamsa
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MG WHEH

Ishwar Chandra Vidy g
Cc

$aR O% Rremarw

Dayanand Saraswati
D

UG FXadt
Correct Ans : A

Subject : General Knowledge

Q.No: 103 What are the rocks formed by the cooling of magma on the earth's crust?

2624386
gl @ U R A & a1 @ & S ol wer 87
Extrusive igneous rocks
A
TR o agT
Intrusive igneous rocks
B
$5fa ami agry
Sedimentary rocks
C
SEHTE T
Metamorphic rocks
D

af 3
Correct Ans : A

Subject : General Knowledge

Q.No: 104 Who first introduced canal irrigation in India?

2624454
YR H aum TeR RiarE o Yo fFaa o
Mohammad Bind Tughlaq
A
Hgwre fig gra®
Ghiyassudin Tughlaq
B
TAGEH TS
Firoz Shah Tughlaq
C
frdte e T
Muhammad Ghori
D

HowIg MY
Correct Ans : C

Subject : General Knowledge

Q.No: 105 Who is the Current Attorney General of Madhya Pradesh?
2642899

Tqed U & TAHM HEIHaTd B 82

Shri Purushaindra Kaurav

off ¥ix PR

B Shri Narottam Mishra
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oft =Rraw frsm

Shri Kamal Patel
c

o vHa wew

Shri Meena Singh
D

ot i Rig
Correct Ans : A

Subject : General Knowledge

Q.No: 106 Where is the Jawaharlal Nehru Krishi Vishwa Vidyalaya located in Madhya Pradesh?
2651386

T Yo § WaTeRdd e B faufaaay sl R 82

Bhopal
A
Ararer
Satna
B
qdaAr
Jabalpur
C
SIqIQR
Khargone
D
ECRUIE |

Correct Ans : C

Subject : General Knowledge

Q.No: 107 Where is the Shyam Shah Medical College located in Madhya Pradesh?
2651397

Y e Afged Pl Heg uew § Hef fRud 872

Rewa
A

e

Jabalpur
B

SEIR

Dhar
C

YR

Satna
D

GCEI

Correct Ans : A

Subject : General Knowledge

Q.No: 108 Madhya Bharat, has also known as Union.
2651585

T YR, B g & &9 F W S ST 21

Kshipra Union

fBrom g
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Narmadapuram Union

B
THAGRH G
Jhansi Union
C
i gfrs
Malwa Union
D

wTeraT g
Correct Ans : D

Subject : General Knowledge

Q.No: 109 Choose the odd one out from the following monuments (in terms of locations)-
2679972

fofafad wRS! & ¥ fwm & g (R & T F) -

Sikandra Fort

A
Rrdber @1 fren
Mehrangarh Fort
B
AERTIE BT fpert
Hawa Mahal
C
&al 7
City Palace Udaipur
D

Rrét T SqagR
Correct Ans : A

Subject : General Knowledge

Q.No: 110 What is the base year for calculating GDP in India?

2681292
URd B SIS &t 7o & R emuR a 4 82
2009-10
A
2009-10
2011-12
B
2011-12
2014-15
C
2012-15
2004-05
D
2004-05

Correct Ans : B

Subject : General Knowledge

Q.No: 111 Find the correct statements about MPC -
2681307

AR & IR F TG BT T BN -
A It is related to RBI
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7% IR § wafta ¥

The Committee will have 6 members
B

wfife & 6 W g

Both aand b
(o

a 3R b gAY

Neither a nor b
D

Adaddb

Correct Ans : C

Subject : General Knowledge

Q.No: 112 Who is the first CEO of Twitter?

2683602
feeR & wum Widalt BIF €2
Noah Glass
A
RICIEC I
Jack Dorsey
B
e SRt
Evan Williams
C
ga faferws
Paul Singer
D

ufa RFR
Correct Ans : B

Subject : General Knowledge

Q.No: 113 Who has topped as the most generous person in the country with an annual donation of Rs 1,161 crore, the EdelGive Hurun India Philanthropy List 2022?
2691451

TS §o 38T IRIUGR T 2022 & 1,161 HUS IUT & e g & Y I & Yo ISR Al & w7 H i 2 R 8?2

Ratan Tata
A

X <IeT

Shiv Nadar
B

g AR

Anil Ambani
C

Sffa sfarit

Salman Khan
D

LGUISREIEE
Correct Ans : B

Subject : General Knowledge

Q.No: 114 Quentin Tarantino is a famous,
2732766

Hfe erafe v Rrs H
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Economist
A

St

Cricketer
B

frdpex

Filmmaker
C

fpem fomfar

Scientist
D

ERIECD

Correct Ans : C

Subject : General Knowledge

Q.No: 115 What is the 2015 National Health Policy's purpose?

2641779

2015 @1 T @R A F1 ST 71 7

To improve the quality of life
A

e &t Tura # UR B & g

To improve the overall development of society
B

U & T e # gUR e

To address the urgent need to improve the performance of the health system
C

TR YU & YR H JUR HIA B IopbTd ATaRAHdl Bl Halfid B & g

To address the urgent need to improve the performance of transportation system.
D

gfkag ol & =i & GUR & T aopTa Smaxgemar &1 Geifid B & gl
Correct Ans : C

Subject : General Science

Q.No: 116 Malaria is caused by:

2669341
HARET F HRT BT 3
Bacteria
A
Sftary
Protozoan
B
wrersiram
Fungi
C
Cra
Virus
D
CIEN

Correct Ans : B

Subject : General Science

Q.No: 117 This group of vertebrates comprises of the highest number of endangered species
2669732
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FHIBIHA b 3 TE W GV TSt BT TR TG 3HfRh ¥

Fishes
A
wodt
Birds
B
ueit
Reptiles
C
iy
Mammals
D
wUT

Correct Ans : D

Subject : General Science

Q.No: 118 The electronic configuration of chlorine is:

2670940
FARIA BT 3AaAD AT 71
2,7
A
2,7
2,8,8,7
B
2,8,8,7
2,8,7
c
2,8,7
2,7,8
D
2,7,8

Correct Ans : C

Subject : General Science

Q.No: 119 Photo-phosphorylation is the process of:

2673657

WIE-BRGRISATE B Ufshar ¥ T gl 32

ATP formation from ADP in the presence of light in chloroplasts
A

FARIERE # 7T 31 IufRUf F wEShdt & vt &1 T

ADP formation from ATP in the presence of light in chloroplasts
B

FARIERE # yHT=T $) IufRAfY & il & vt &1 w87

ATP formation from ADP in the presence of carbon dioxide in the chloroplasts
C

FARIERE # FTa STFeiiags 3 SURUf F wShit | vl &1 1o

ADP formation from ATP in the presence of carbon dioxide in the chloroplasts
D

FARIERE # T STiiaaTss $I U & vt J whdt &1 787
Correct Ans : A

Subject : General Science
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Q.No: 120 Which of the following substance/s is/are sublimable?

2674008
frafefed & 9 S w1 gard/ e 32
Naphthalene
A
AGYUT
Iodine
B
S
Ammonium Chloride
C
Srfram FARES
All of the given options
D

e T @it fawew

Correct Ans : D

Subject : General Science

Q.No: 121 What is the name of the law that states that the current flowing through a conductor is directly

2677628 proportional to the potential difference across it, provided the temperature and other physical conditions
remain constant?
I e &1 91 9 & S 9ar @ & e e & e § 96 arel aR1 39 RRy
W favaiR & @Y g S 8, IR 5 aome iR o i fRuferar fRR 92
Kirchhoff's law
A
frvaw #1 fFram
Faraday's law
B
IS 1 Frw
Ohm's law
C
3\ &1
Coulomb's law
D

gar &1 fam
Correct Ans : C

Subject : General Science

Q.No: 122 Which of the following is a unit of electric current?

2677674
frafafea & 3 o1 fagga o1 3 3318 8°
Kelvin
A
e
Coulomb
B
F3i)
Ampere
Cc
TR

D Joule
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S
Correct Ans : C

Subject : General Science

Q.No: 123 1In which of the following types of interactions does one species harms or restricts the other species without itself being adversely affected or harmed by the presence of the
2678931 ther species?

Fofifd & 3 59 veR 3 sraafharsll § ue yonfa gadt yenfa &l Rt R I § a1 I 71 ugenh @ W WY o yenfadl @) IufRifa & HROT st of R F wfagd yvma I R el 3

Amensalism

A

g yifmar

Neutralism
B

e

Commensalism
C

TEIHTREr

Mutualism
D

ERIIEG)

Correct Ans : A

Subject : General Science

Q.No: 124 Lungs are the primary organs of

2684235
P e e
Digestion
A
LIEE]
Constipation
B
Hool
Perspiration
C
LiE
Respiration
D
a1

Correct Ans : D

Subject : General Science

Q.No: 125 Calcium deficiency mainly occurs in the absence of which vitamin?

2684241

Fickran #t wrf g Fu I forw faerfm a7t ot @ et B @2

Vitamin D
A

faerfim €t

Vitamin B6
B

faerf B6

Vitamin C
C

faerfim

D Vitamin A
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faffm e
Correct Ans : A

Subject : General Science

Q.No: 126 Where does the process of photosynthesis occur in plants?

2684317

Delf F THTRI TRAVOT BT AT Rl B © 2

In Mitochondria
A

wrgetpia &

In Chloroplast
B

FARIERE A

In Centrosome
C

Hw A

In Nucleus
D

gfaa

Correct Ans : B

Subject : General Science

Q.No: 127 CHCI; is known as —

2695148
CHCL; ®! & = H S SIS -
Benzene
A
CEin]
Chloroform
B
HIRIGIH
Bleach
C
==
Gypsum
D
forew

Correct Ans : B

Subject : General Science

Q.No: 128 The red algae usually reproduce vegetatively by.............

2695233
T R AR TR oo ERT IFfie FU Y U FR4 &
Fragmentation
A
fargs
Red algae
B
T QT
Brown algae
C

AT ST

D Laminaria
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i

Correct Ans : A

Subject : General Science

Q.No: 129 ‘Sasser’ was in operation in 2004 in computer networking. It is associated with which of the following?
2635738

Sasser 2004 ¥ WX el yETe H oT, I8 frwd WY ST g 77

Document Software

A
STagie Aireamw
Component Virus
B
FUHE IrRE
Computer Hardware
c
HHE FTSAW
Super Computer
D

IR PR
Correct Ans : B

Subject : General Computer

Q.No: 130 What are some examples of different input devices from the list below?

2635841
F2 < 7S G A AR ST SUBRU B B IR0 I 82
Manual Scanner
A
A3 R
Optical/magnetic Scanner
B
SHiewe/gaata R
Simple Scanner
C
YRV TR
External Scanner
D

I R

Correct Ans : B

Subject : General Computer

Q.No: 131 Which of the following first-generation computer had the most popularity?

2636916
9 & 3 5y ugeh i) & SR B ABRd(popularity) Te 3w h?
IBM 650
A
STEHITH(IBM) 650
IBM 360
B
Ir$dTA(IBM) 360
IBM 1130
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3r$STA(IBM) 1130

None of the given options

fow g fawedt & @ oI5 T8
Correct Ans : A

Subject : General Computer

Q.No: 132 What is the alternative term for a programmable chip?

2636935
Triea fu F R defe e @@ 82
RAM
A
Eo)
ROM
B
ki
Microcontroller
C
AP
PROM
D
W

Correct Ans : C

Subject : General Computer

Q.No: 133 Which of the following is the latest version of windows?

2638959

g & | BIF-91 fISIe BT T TR (latest version) 82

Windows 8
A

fisiw 8

Windows 9
B

IESEE)

Windows 11
Cc

et 11

Windows 10
D

fisi= 10

Correct Ans : C

Subject : General Computer

Q.No: 134 Pick the odd one out.

2639089
fawa 31 gfwl
.org
A
.org
.com
B
.com

C .net
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.net

mpeg

mpeg
Correct Ans : D

Subject : General Computer

Q.No: 135 The rows in a database are called

2639107
Serew ¥ ufkml 3 EAC I
Fields
A
wiesw
Records
B
Reigw
Ranges
C
Ko
Headers
D
gt

Correct Ans : B

Subject : General Computer

Q.No: 136 What is the best-case time complexity of the iinear search?
2645016

MR T (e @) Bt Faiow-5 g Sfeadr . 32

O(n)
A
o(n)
0o(1)
B
0o(1)
O(n log n)
C
O(n log n)
Otnl)
D
O(nl)

Correct Ans : B

Subject : General Computer

Q.No: 137 Which network topology requires a central controller or hub?
2675387

g Aead Qrarst & o Jod beler O1 89 BT MaRTHT Bl 32

Ring

far

B Bus
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99
Hybrid
c
HHES
Star
D
TR

Correct Ans : D

Subject : General Computer

Q.No: 138 Which one of the reasons is incorrect with respect to the success of the open-source software?
2681075

N-TRf WHedTR 3 THedr & Jay H -9 Th SR T 82

Better quality

A
FgeR ora
Low reliability
B
o fageigar
More flexibility
C
3iftre writemaT
Lower cost
D
PH ARTd

Correct Ans : B

Subject : General Computer

Q.No: 139 Which of the following checks all the devices and loads their drivers so a user can work properly, when a computer starts?
2684489

i & ¥ F9 T STHRON &} i BT B SR 3P SRRT B WIS BT ¢ dlis PR Y& B R ITNTHd! Sib § HTH B T2

Operating system

A
SifofeT Rew
Computer systems
B
Hugex R
Software
C
|IrRIw
Hardware
D
TR

Correct Ans : A

Subject : General Computer

Q.No: 140 Which of the following series of super computers was released by C-DAC mission?
2684521

C-DAC e gRT IR deR @t Fuff@d & § $H-3 gaardhie oft 3t 7€ ot
FRONTIER

FRONTIER

GET IT ON
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EDIAC
B

EDIAC

UNIVAC
C

UNIVAC

PARAM
D

PARAM

Correct Ans : D

Subject : General Computer

Q.No: 141 Which of the following is the function of the Imaging and Video Input Devices?

2690424

Ffied & 3 B 1 gafi iR difeal sTe fEaed &1 & 87

A peripheral device designed to be connected to a computer or console gaming system.
A

P uRetg IR R SogeR a1 Hatd AT Ren | saee oo & R e fear man @1

A joystick allows an individual to move an object in a game.
B

TP Siafs U Afed 3 TP 19 # sifeiae ) WFaRd S ST argafa a1 81

It is used to digitize image/jpgs or video from the outside world into the computer.
C

THBT SUUNT aTedt giran &t Bl a1 difsa & vuger & Rftersw o & g fran smar 21

A computer input device in the form of a light sensitive and used in conjunction with a computer's CRT display.
D

FHR F WARA vt & T & A1y ITANT Y 9 1@ YT W= DSt b U H TP FHR §Ye f¥arsd|

Correct Ans : C

Subject : General Computer

Q.No: 142 Which of the following can be used to navigate documents?

2693276
frafaRea & @ fraenr JudiT axardsl &1 Afdie w7 & forg fbar S wean 82
frames
A
L)
hyperlinks
B
[EENEEd
web toolbar
C
&9 gEar
all of the given options
D

o @t fawew

Correct Ans : B

Subject : General Computer

Q.No: 143 Find the missing letters in the following series.
2614141

uJ, SM, QQ, ov, ?

Frofafed sear & gu siaR 1 Piforr?
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uJ, SM, QQ, ov, ?

EI
A

EI

JQ
B

Q

EU
c

EU

MB
D

MB

Correct Ans : D

Subject : General Reasoning

Q.No: 144 Choose the choice that is related to the third term in the same way that the second term is related to the first term.

2614204
JQRD : KSUH :: LUXL : ?
% fased g o R U ¥ I aRe Teifid B SR gERT UG, URd Ue ¥ Weifid 2
JQRD : KSUH :: LUXL : ?
MAPW
A
MAPW
MAWP
B
MAWP
MWAP
c
MWAP
PMAW
D
PMAW

Correct Ans : C

Subject : General Reasoning

Q.No: 145 In the following figure, enter the omitted number in place of question mark (?).

2614454
3| 4|5
3I(7|?
3| |22

3| 4|5

3I(7|?

3| |22
12

12
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9
B

9

10
C

10

11
D

11

Correct Ans : A

Subject : General Reasoning

Q.No: 146 Find out the wrong term from the given alphabet series.
2614629

DFK FEL HDM FEL LBO

&} 7 quieren skae & TTad ug 1d Sl
DFK FEL HDM FEL LBO

LBO
A

LBO

HDM
B

HDM

FEL
C

FEL

DFK
D

DFK

Correct Ans : C

Subject : General Reasoning

Q.No: 147 Find out the wrong term from the given alphabet series.
2614630

CAT ACQ IGZ LIC

&) 7 quinren g@en & TTad ue i B
CAT ACQ IGZ LIC

ACQ
A

ACQ

CAT
B

CAT

16z
C

16z

Lic
D

Lic

Correct Ans : A

Subject : General Reasoning
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Q.No: 148 Choose the odd one from the given alternatives.
2628922

feu e fawedt @ i &Y o)
vhOA

vhOA
EIfg

EIfg

AUrs

AUrs

eaWT

eaWT
Correct Ans : D

Subject : General Reasoning

Q.No: 149 What comes in place of (?)

2629131
756 | | 879
534 | [ 722
666, 4
UHATaD g & RIM W & STTIT?
756 879
534 | [ 722
666 ?
562
A
562
571
B
571
471
C
471
482
D
482

Correct Ans : C

Subject : General Reasoning
Q.No: 150 Find the missing number in the given analogy:
2629177

847 :12::964 :?

fou T gHAr A g IS 9| IR

847 :12::964 :?

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eooale Play

14
26

26
29

29
24

24
Correct Ans : D

Subject : General Reasoning

Q.No: 151 Hemang is sixteenth from the top and twelfth from the bottom in merit in the class. How many students are there in the class?
2663715

U Hel H TRie § SR I Wiasd R E ¥ IRed ™A | 71 Hel H fas oH 82

29
A

29

30
B

30

27
C

27

21
D

21

Correct Ans : C

Subject : General Reasoning

Q.No: 152 Golu started from his house towards North. After covering a distance of 8 km, he turned towards left and covered a distance of 6 km. What is the shortest distance now from
2663827 hjs house?

T ST TR Y IR P 3R I7 U1 8 5t 3 g 79 A & 91e, I8 IS 3R g7 9iR 6 [ P g8 79 B 919 IS W Y FrAqH g1 [l 82

10
A

10

12
B

12

16
C

16

11
D

11

Correct Ans : A

Subject : General Reasoning

Q.No: 153 If in a certain language, "INCARNATION” is coded as “65489581675". How is ‘RAINCOAT’ coded in that code?
2681883

gfe; fepadt ffra uTeT #, “INCARNATION” Y “65489581675" HIfSd fhaT STl & ‘RAINCOAT’ HIS H B4 HifSd fbar Sam?
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58654781
A

58654781

98654781
B

98654781

18654681
C

18654681

58154781
D

58154781

Correct Ans : B

Subject : General Reasoning

Q.No: 154 1In the following question, two statements are given each followed by two conclusions I and II. You have to consider the statements to be true even if they seem to be at
2682321 \arjance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements:

Some notes are coins.

No paper is note.

Conclusion:

1. Some papers being coins is a possibility.

II. All coins are papers

Frafifad gy #, < w3 3w TU 8 iR ude F 918 3 ey 1 8IR 11 foT T ¥ Ul U Bl T AT B ot € d Tdnd 9t ¥ R uelid 81 811 oMU a9 A § % 2T e By # | -
a1 frp, afe F1E &Y, SR FRA B

FY: B Hle, Rab T |

B 1t IR, e TR |

frepd:

1. $9 TR &1 e 7 3 IRIaT g |
1L Tt Ry, IR R |

Only conclusion I follows

Faa frepd 1 3R Hear §

Only conclusion II follows

Faa Fresd 1T IFERor HIaT 8

Neither conclusion I nor II follows

TR Freed 1 R 7 & 11 R HRaT €

Both conclusions I and II follow

St e 1 3R 11 SrFgRor BRd &
Correct Ans : A

Subject : General Reasoning

Q.No: 155 If DELHI is coded as 73541 and CALCUTTA as 82589662, how can CALICUT be coded?

2690511
gfe DELHI &Y 73541 % &Y # 3R CALCUTTA &I 82589662 % & H Ffed &Y dl, CALICUT & H4 Gfed fhar S Tehdr 82
5279431

A
5279431

B 5978213
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5978213

8251896
Cc

8251896

8543691
D

8543691

Correct Ans : C

Subject : General Reasoning

Q.No: 156 George is fifth from the left and Peter is twelfth from the right end in a row of children. If peter shifts by three places towards George,he becomes tenth from the left end.How
2697275 many children are there in the row?
el B U Ufad & Sl a1 ¥ 537 § 3R ey g ¥ 1241 71 3 dier 1 3 R WSl 3 R RIGesran ST § df 98 919 § 1097 59 1l 31 uf & e s=1 82

A S
° 2
c 3
o

Correct Ans : D

Subject : General Reasoning

Q.No: 157 Two numbers have a 375 LCM and a 15 HCF. What is the other number if one of the numbers is 45?

2617108

3 Tl #1 4.9, 375 AR A.Y. 15 8, Ul T 45 © o gO G= o ghft 2

250
A

250

225
B

225

125
c

125

360
D

360

Correct Ans : C

Subject : General Maths

Q.No: 158 The price of kerosene is Rs. 48 per litre and the price of spirit is Rs. 30 per litre. In what ratio should the kerosene and spirit be mixed such that the profit after selling the
2629538 mixture at Rs. 60 per litre be 50%?

PRI BT Yo7 48 TUT Ul Tfiex B a1 B &7 Jea 30 TUT UfY Tfiex & | B w1 e &1 {5 srqura & fiyeman ST =nfge anfes fisior &) 60 =0T Uiy Tfier Jed W S99 W 50% 14 U 2

1:1
A

1:1

3:4
B

3:4

5:1
C

5:1

D None of the given options
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T g fysedt & @ F1E T
Correct Ans : D

Subject : General Maths

Q.No: 159 1 o
2643143 1f \ff—l—3=4, then x2+;13 equal to:
v

afx ﬁ—%=4§',5ﬁ'x2+ﬁ EriCed s

192
A

192

326
B

326

322
Cc

322

256
D

256

Correct Ans : C

Subject : General Maths

Q.No: 160 The sum of the squares of 3 consecutive positive numbers is 677. The sum of the numbers is:
2645805 T HARTT YFIHS TGN & T BT INT 677 §1 GBI HT AT 7

-
B
c 3
© s

Correct Ans : B

Subject : General Maths

Q.No: 161 A jetplane started 30 minutes late to cover a distance of 2100 km from its scheduled time. The jetplane driver increases the speed to 350 km/hr to reach the scheduled time.
2647800 gq what is the actual speed of the jetplane?

T 9 foue o fufRa g @ 2100 el Bt gt T FA & fw 30 e 3 & 311 SewH Trae fuffa gmg 9% ugEn & e Afa 350 /e sgr ar § o S faue #t arafae Ty
T 3?

500 km/h

500 ferHT/Eer
750 km/h

750 TaaT/Her
250 km/h

250 TensT/eer
1050 km/h

1050 Tt/ ger
Correct Ans : D

Subject : General Maths
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Q.No: 162 Simplify:

2667217
(9)%2 x (19)° = (19)* = (19)7
WAF BR:
(9)*2 x (19)% + (19)* = (19)°
6
A
6
8
B
8
12
C
12
16
D
16

Correct Ans : D

Subject : General Maths

Q.No: 163 One side of square measures is 15 cm. What is the area?

2671412
i B TF Yo BT Y 15 I, dAE R 8?2
252 cm?
A
2
2523t
251 cm?
B
2
251 T
250 cm?
c
2
250 T
225 cm?
D
2
225t

Correct Ans : D

Subject : General Maths

Q.No: 164 When 200 and 120 are divided by a number P, we get remainders of 5 and 3 respectively. Find the sum of all the possible value of P.
2672712

S 200 3R 120 HY TWeAT P F fIuIfra forar e 8, dF 57 HHRE: 5 3R 3 [HS U BT 71 P & It Guiiad AT 1 9N J1d iRt

52
A

52

53
B

53
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55
C

55

56
D

56

Correct Ans : A
Subject : General Maths

Q.No: 165 AQB is a sector of a circle of radivs 9.6 cm. A circle is inscribed in it, as shown in the fig..
2674592  yhose radivs is 4 cm. Find the area of the shaded region. Take m= 3.

s gu foradt f5=ar 0.6 ¥ €, AOB 3@aT Tisads &) 3@ &7 amafa & g
arar & SEG 3ovTg Uk o © TerEd T 4 €9l &) wited ®ET & SEee A
Y| n=3 A |

10.24 cm?
A

10.24 T

15.12 cm?
B

15.12

17.12 cm?
c

17.12 T

20.24 cm?
D

2024 T2

Correct Ans : C

Subject : General Maths

Q.No: 166 A person drives with speed 80 km/hr reaches his destination in 5 hrs. If his speed is increased
2675154
by a certain percentage, he reaches his destination 50 minutes earlier. By what percentage was

his speed increased?

TF TG 80 It / el &t Mfa § F1ed FHRaT1 7, A U Tide W 5 G H ugadn 71 ufe 3w i & v Ffya vfowrd it 9fS gt B, & 98 50 e g oA Tided % ugd o g
ITH T H foba vfad 3 IS g2

20

20
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10

25
C

25

15
D

15

Correct Ans : A

Subject : General Maths

Q.No: 167 The average income of 70 employees in a colony, which consists of only bank employees and teachers, is Rs.35000. The number of teachers in the colony is four times the
2681509 ymper of bank employees. If the average income of the bank employees is Rs.21000, find the average income of teachers.

TP Pla H 70 HHAIRE! B T 3T $.35000 €, DA Had b FHaAR) 3R e &1 S § ! 3t W §6 HHanikal #t W ¥ IR 1 81
Tl S BTGl BT 3G 3T $.21000 &, < Rrepl &1 a3 J1d Sifvmel.

Rs.45000
A

¥.45000

Rs.41600
B

%.41600

Rs.38500
(o

¥.38500

Rs.36500
D

¥.36500

Correct Ans : C

Subject : General Maths

Q.No: 168 The pair of equations are 4x+6y-11 = 0 and 2x+ky-7 = 0. Find the value of ‘k’ for which two systems are inconsistent ?

2694642
T 4x+6y-11 = 0 3R 2x + ky - 7 = 0 &1 'k’ FT 98 HH F1d i) fores fow S w1 s/ &2
1
A
1
2
B
2
3
C
3
4
D
4

Correct Ans : C

Subject : General Maths

Q.No: 169 Pipes A, B and C can fill a tank in 10, 15 and 30 hours, respectively, D is an emptying pipe that alone can empty the full tank in x hours. A, B and C are opened together for 3
2696413 hours and then closed. Now D is opened which alone empties the tank in 30 hours. What is the value of x?

UEY A, B 3R C HHI: 10, 15 3R 30 6 H TH P B R Ybd &, D Th Wit B dTel UIS ¢ Sl 3hat & Bl x 6 H WTell IR Thal 31 A, B 3R C H T 1Y 3 6 & AT Wienm e € 3R
R s B far wrar 81 fhR D Y Wiel T S b 30 Tl H T Y W BT g x BT HF 1 8?2

A 40


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eooale Play

40
50

50
60

60
45

45
Correct Ans : B

Subject : General Maths

Q.No: 170
2727239 Ifa+b+ c =0 then what is the value of

a® b2 c?
+=+=2

be ca ab ’

uﬁa+b+c=0%m:—:+z+£wmwﬁ?

-3
A

-3

0
B

0

1
C

1

3
D

3

Correct Ans : D

Subject : General Maths

QNO: 171 fyfafig & & T "R  F THIPR BH 82

2627710

A IRt g feas
B I ua

C HarvRITS fy

D HRA YT

Correct Ans : A

Subject : General Hindi

S8635 et e e
A YSHAR

B IGUPR

C SIEY

D g

Correct Ans : A

Subject : General Hindi

QNO: 173 oty srog-wwgl § & P-a1 Ridred et el o1 Tt Samevvr 27

2660244
A w, @fe, a1g
B AqPHAC, 9, Steit

c BT, BTEST, ST
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D yerft, firea, =
Correct Ans : B

Subject : General Hindi

Q:No: 174 oyatufa & § et &1 wafaardh w2 1 £

2660393
A TR
B RS
c e
D faree

Correct Ans : B

Subject : General Hindi

QNO: 175 prmputery 1 Q vxid o1 ST 3 01 G2

2660714

A HTquT
B zrafoft
C ECal
D et

Correct Ans : B

Subject : General Hindi

QlNo: 176 i 1 & -a1 e (o) B4 1 W) Tarew 37
Y-y § gart, T ey @
e R 3, e 7 A
-l Y 3, i @ v e
da@! FI Tt ¥ Y@-7 T 9
Rufift & Sy R |, ¥6 Rran 9 haw sig!
T gou ot T @, T v o Y-y
T 31 3T 3, e = AR
I Wl A e, Fushma o1 aR|
PUSRAT BT WR, =01 B: e AR |
et o= e, WRian SR v
TR HEE & I Vg I8 & govrdt|
dreT 1 TR, g3 € R vea
ot & 7 oy freltear €
T g ¥ 719 o @ R
g 9@ # fira AR e,
wr e f g R

Correct Ans : B

Subject : General Hindi

Q:NO: 177ty 3 iy & aneR W faufa R wmuales ofari} 1 9o aifi-

2660907
A g, e, e, wfea
B arT, R

c e, wfea

D Ty, o, forg

Correct Ans : D

Subject : General Hindi

QNo: 175 rerfafiem 1 9 st “aer e o0 g aact & @ 37 @~ 1 90 o] 82

A T $I I B AT FER-IR
B faufy & v Fenl die O w19 e o R
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C P15 iRy AR fraan & urar &t 7 g erve @it & ot | A urar
D T& Fon i @t ), W Qe g1y ¥ T W)

Correct Ans : B

Subject : General Hindi

Q.No: 179 U 7 arg ¥ g Fiet & § wob wse b1 79 PIRE-

2666527
it & Ygaren Hew”
A TUAES
B pard
c P
D Faw

Correct Ans : A

Subject : General Hindi

Q.No: 180 :
2666710 T & ¥ weg & Yg FU(ad) B 997 PIe-

A Th Y=
B UFp Y-
C UDpTYA
D LICECE]

Correct Ans : D

Subject : General Hindi

QNO: 181 prmputery 5 <& a1 w1 s T ) b T 7

2666849

A 3GYd T
B HE0 T
c YR T
D USRS

Correct Ans : C

Subject : General Hindi

Q.No: 182 Prefafad § 3 odg” g I o1 I8 e 22

2667552
A qfS @R i
B oy R AR
c e ww =iy
D U1 R W

Correct Ans : A

Subject : General Hindi

(22'6’\‘6%51383 ERiEd & § $H-I0 3571, TSGR “Foarard Hiveard Gt @t 82

A Erkieidi
B Rrsia ok st
C o=t v
D aift gRaren

Correct Ans : A

Subject : General Hindi

QNo: 184 fyotuferd F § orgrg adH ard Wea BT T FHIRMT-

2692015

A wfere=t
B Tarfess
c TR
D Tafar

GET IT ON

Google Play
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Correct Ans : B

Subject : General Hindi

Q.No: 185
2692129

A
B
C
D

Ay W9 R IR G WA 7, s B pea &
STHTRN F T BT

2ra ® die g

TS Uy § FT

Sl § 3rmer e

Correct Ans : D

Subject : General Hindi

Q.No: 186
2677032

A
B
C
D

In the question below, a passage is split into 4 parts and named as P, Q, R and S. These four parts are not given in their proper order. Read the passage and find out which of
the four combinations/sequence is correct.

P. In the most severe stage, people with dementia are completely dependent on the help of others for the basic activities of daily life, such as keeping themselves clean and
fed.

Q. There are multiple stages of dementia, ranging from some minor difficulty functioning to severe impairment.

R. Dementia is a progressive loss of cognitive function, marked by memory problems, trouble communicating, impaired judgment, and confused thinking.
S. People who develop dementia may lose the ability to regulate their emotions, especially anger, and their personalities may change.

SRPQ

RSPQ

RSQP

SPQR

Correct Ans : C

Subject : General English

Q.No: 187
2677033

A
B
C
D

In the question below four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the
correct final order.

P. But, somewhere, somehow, we |leave these hobbies far behind.

Q. At least that's what happens with most people.

R. I used to dance, run, act, make clay models, collect coins, write poems, review movies and do so much more, when I was a kid.
S. We all have hobbies as kids.

PRSQ

QSRP

RSQP

SRPQ

Correct Ans : D

Subject : General English

Q.No: 188
2677066

A
B
(o
D

In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of
sentences from among the options.

P. A representative for the U.S. Attorney's office said it was not immediately clear what the suspect's motive was.

Q. Law enforcement officials were able to track Ms. Thompson down as the page she posted on contained her full name as part of its digital address.
R. Capital One Financial Corp said that personal information including names and addresses of about 100 million individuals were compromised.

S. The suspect, a 33-year-old former Seattle technology company software engineer identified as Paige Thompson.

RQSP

SRPQ

RSPQ

PQSR

Correct Ans : C

Subject : General English
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Q.No: 189 1In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of
2677067 gentences from among the options.

P. Indian peacekeepers, who supported the Haitian Police for over a decade and are departing from Haiti have won laurels for their commendable service.
Q. Of the total 140 Indian peacekeepers, 126 officers left Haiti on July 21.

R. The remaining 14 Indian officers will depart on August 3, ending 11 years of continuous presence

S. It is to be noted that India is the 4th largest contributor of military personnel and police to United Nations peacekeeping operations.

PRSQ

A

B PQRS
C SRQP
D

QPRS
Correct Ans : B

Subject : General English

Q.No: 190 In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the
2677090 (orrect final order.

P. This device sent a continuous pulse of electricity into her brain.
Q. Five years ago, doctors implanted electrodes into a Slovenian woman's brain.
R. The electricity was to help manage her painful neck spasms.

S. These electrodes connected to a device in her chest known as an implantable pulse generator (IPG).

A PSQR
B QPRS
C QSPR
D SRQP

Correct Ans : C

Subject : General English

Q.No: 191 In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and
2677133 find out which of the four combinations is correct.

P. Would they look into this one and find them?
Q. It seemed to Bill as if they were looking in the ruined buildings to find something.
R. They stopped every now and again.

S. Two dark figures came up the street.

A SRQP
B SRPQ
C RQSP
D RPSQ

Correct Ans : A

Subject : General English

Q.No: 192 Select the most appropriate word for the given group of words.
2729115
One who dislikes art and culture.

A Expert

B Mercenary

C Professional
D Philistine

Correct Ans : D

Subject : General English

Q.No: 193 Select the most appropriate word for the given group of words.
2729116
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A person who looks at the bright side of things.

A Atheist

B Pessimist
C Optimist
D Oculist

Correct Ans : C

Subject : General English

Q.No: 194 Identify the segment that contains a grammatical error. If there is no error, select 'No error'.
2729205

My teacher said to me that all that glitters was not gold.

A My teacher said to me that
B all that

(o} glitters was not gold.

D No error.

Correct Ans : C

Subject : General English

Q.No: 195 Select the most appropriate meaning of the given idiom.
2729247
A pipe dream.

A A plan in the process.
B A realistic dream.

C An illusory plan.

D A secret.

Correct Ans : C

Subject : General English

Q.No: 196 Select the most appropriate option to fill in the blank.

2729259
The man was enough to thank her for all the hard work.
A attractive
B gracious
C repellent
D bad

Correct Ans : B

Subject : General English

Q.No: 197 Select the most appropriate option to fill in the blank.

2729260
His autobiography will be one of the most awaited books.
A badly
B deftly
(o} eagerly
D happily

Correct Ans : C

Subject : General English

Q.No: 198 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.
2731207

My wallet is the pen.
A next to
besides

C next
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D beyond
Correct Ans : A

Subject : General English

Q.No: 199 Select the most appropriate synonym of the given word.

2731258

Dilatory
A Purity
B Tardy
C Gaudy
D Dandy

Correct Ans : B

Subject : General English

Q.No: 200 Select the synonym of the given word.

2731302

Intrepid
A Aesthetic
B Rotten
C Fearless
D Detached

Correct Ans : C

Subject : General English
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